Doc # 904-CSD-X-C_01

1718 W. Fullerton Chicago, IL 60614
PURE J EI]GE —— Ph: 773.770.1195 e Fax: 773.935.5613
L www.PureEdgeLighting.com e info@PureEdgeLighting.com
© 2016 PureEdge Lighting. All Rights Reserved.

LIGHTING

Installation Instructions for Cirrus MIYO X LED Suspension with
Remote Power - Center Feed

IMPORTANT INFORMATION

- This product is suitable for indoor locations.
- This instruction shows a typical installation.

SAVE THESE INSTRUCTIONS!

Section One: Install the Fixture

A NOTE: Before beginning any electrical work, ensure that power
to the junction box is turned off.
JUNCTION
BOX —» NOTE: Ensure remote power supply wires are present in the
junction box. Refer to the instructions provided with the power
supply.
MOUNTING g = . u 1: Feed the low voltage wires from the remote power supply
RING —> i & through the center hole of the mounting ring.
== 1 2: Mount the ring to the junction box holes with two #8-32
SCrews.
#8-32 — 5 <« :)
SCREW g

3: Determine the fixture height from the bottom of the channel B
to the top of the canopy.

4: Push each wire through the cord grips on the canopy.

5: Adjust the fixture height by pushing the cord grip to slide 4" FLUSH
the fixture up and down. Release the cord grip to lock the CANOPY

wire in place.
NOTE: If wire is curled or kinked, straighten by holding between

the shaft of a screwdriver and thumb and pulling the wire
through (see inset).

CORD
GRIP

6: Identity the power wire which is marked with a "POWER"
label. ! —
ISUPPORT
NOTE: The wires with "SUPPORT" labels are the support wires. D [SUPPORT
DO NOT strip and power the support wires. UPPORT)




WIRE STRIPPERS

POWERED
COAXIAL
CABLE

INNER
INSULATION

BRAIDED
WIRE

the following steps or visit
https://www.PureEdgeLighting.com/video_feed/
installation_cxc_connector

7: Use the 18AWG hole of the wire stripper to remove 1-3/8" of
the outer insulation to expose the braided wire of the
powered cable only.

8: Use the 18AWG hole of the wire stripper to remove 1" of the
braided wire making sure not to nick the inner wire
insulation of the powered cable only.

9: Use the 20AWG hole of the wire stripper to move 1/8" of the
inner insulated wire of the powered cable.

OUTER — |
INSULATION

COAXIAL COAXIAL
CONNECTOR CONNECTOR CONNECTOR
COVER ASSEMBLY COVER

; ' y

connector assembly.

10: Unscrew the coaxial connector covers and remove from the

&

2MM ALLEN

WRENCH
&

1.5MM ALLEN WRENCH

11: Using the provided 1.5mm Allen Wrench, remove the M3
set screw from the coaxial connector assembly.

12: Using the provided 2mm Allen wrench to loosen (do not
remove) the M4 set screw.

F

COAXIAL

CONNECTOR

COVER BRAIDED
WIRE

| 8

14: Place the ferrule over the 3/8"
cable.

13: Slide the connector cover over the coaxial cable.

braided wire of the coaxial

FERRULE

G

COAXIAL
CABLE

CONNECTOR
ASSEMBLY

=

CONNECTOR
ASSEMBLY

FERRULE

screw hole.

15: Insert the coaxial cable into the coaxial connector until the wires of the center conductor are visible through the M3 set

I NOTE: Ensure that the split in the ferrule is aligned 90° from the M4 set screw (see inset). I




16: Use the provided 1.5mm Allen wrench to replace and
securely tighten the M3 set screw.

H 1.5MM ALLEN

WRENCH
vy @

T  2vmALEN wrench

CONNECTOR ASSEMBLY

17: Use the provided 2mm Allen wrench to securely tighten the
M4 set screw until it squeezes the wire ferrule tightly to the

coaxial cable.

COAXIAL
CABLE CONNECTOR ASSEMBLY

18: Replace the coaxial connector cover and tighten into
place.

J COAXIAL
@ CONNECTOR

COVER

K

COAXIAL < <@9
CABLE @)>

COAXIAL

CONNECTOR

19: Connect the red wire of the coaxial cable to the +24VDC
power supply wire with a wire nut.

20: Connect the black wire of the coaxial cable to the -24VDC
power supply wire with a wire nut.

BupPOR DO NOT POWER

SUPPORT WIRES

CAUTION: Test the fixture before removing the labels.

UPPORT)

21: Place all wires and wire nut connections inside the junction

L @ box.
CEILING

22: Align the canopy with the mounting ring and secure it with

JUNCTION
BOX —> O O O l the two #4-40 screws using a 1/16" Allen wrench.
9)
%‘ ------------ o Tj
#4-40

SCREW




General Wiring Diagram

+24VDC

Power
Supply

-24VDC

(O00)]

Load

ELV Dimmer

e N

Input
120VAC

Line




	Page 1
	Page 2
	Page 3
	Page 4

